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Simulation for “doping”

• Triton result (200 keV) 

• Depth for Cu: 1.618 um 

• Depth for Au: 1.287 um 

• Check electron beam (18 keV) from 
each depth for Cu and Au plates
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Simulation: cosmic-ray rejection
• Check dT = Tbot, earliest - Ttop, latest after cosmic-ray rejection
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Result might not be improved by adjusting dT cut. 



Simulation: Another algorithm
• 2nd algorithm 

• compare all combination of hits between those for Top/Bottom 
detector OR, 

• just consider the combination of the latest hit at Top and earliest hit 
at Bottom. 

• 3rd algorithm 

• 2nd algorithm & (# of hits) >= 3 

• Neglect all events with less than 3 hits.
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Simulation: Another algorithm
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Rejection Efficiency Rejection Accuracy

(Rej. Eff.) =  
(# of ONE Trigger Selected) /  

(# of Total)

(Rej. Acc.) =  
(# of Real Trigger Selected) /  
(# of ONE Trigger Selected)


